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Q.No: 1 Which of the following content is found in excess in Laterite Soil?
2426904

Frofefea # 3 o @ aref acge gt & offde a7 # org o @2

Nitrogen
A

A

Calcium
B

o

Potash
C

Trer

Organic Matter
D

FeE Tar

Correct Ans : C
Subject : General Knowledge

Q.No: 2 is associated with the Bhakti movement in the North India.
2427023
IR R # ud siicia & I971 21
Kathak
A
YD
Bharatnatyam
B
WRTAIH
Kathakali
c
B

Mohiniyattam

AifeRargH
Correct Ans : A
Subject : General Knowledge

Q.No: 3 Which of the following statements is incorrect about Swami Dayanand
2427982

Wit GO SReadt & AR # FEfifad & § S @ S Tod 82
He founded the Arya Samaj.

A

IR T TS BRI

He was opposed to idolatry and priesthood.
B

98 Hfigen iR dRfeer & AR &1

He believed in the infallibility of the Vedas.
€

3 3 Y ergar 3 Ay PR A1

D He was against the study of western sciences.
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g U e & srerma & e )

Correct Ans : D

Subject : General Knowledge

Q.No: 4 When does International Customs Day observed?
2430692

SfeRigta A goh feaw P w82
12 May

127§

30 April

30 3@
26 January

26 Sl
21 August

21 T
Correct Ans : C

Subject : General Knowledge

Q.No: 5  The Quit India Movement was also known as-
2432432

HRT BIG! SHiEeH Bl ------- F A A ft S S o

The August Movement

A
3T ST
Khilafat Movement
B
aemp ik
Satyagraha
c
ERIPE
Kheda Movement
D

|31 e
Correct Ans : A

Subject : General Knowledge

Q.No: 6  What is the economy of India like?
2434488

YRA B} Srforawl g ueR 3 R 2

Capitalist

eftaret

Communist

rgardt
Mixed

ffdra

Socialist

G|

Correct Ans : C

Subject : General Knowledge



Q.No: 7  In which of the following years Queen Victoria assumed the title of Kaiser-i-Hind (the Empress of India)?
2435716

Frofafga & 3 5w af werr faaeifar 3 FR-u-ig (VYR @t IonRh) $t Sl uror 32

1878
A

1878

1877
B

1877

1876
C

1876

1875
D

1875

Correct Ans : B

Subject : General Knowledge

Q.No: 8  Who won a gold in Commonwealth Weightlifting Championships 2021?
2437134

PITae Jefiften IRmARm 2021 # fFea Ties i 82

Mirabai Chanu

A
HRraT A,
Sanket Mahadev Sargar
B
b W WR
Pardeep Singh
o
e Rig
Gurdeep Singh
D

TR Rig
Correct Ans : B

Subject : General Knowledge

Q.No: 9  Gurupurab festival is celebrated in which state?

2440797
T RY I by 5 A HAT ST 82
Punjab
A
LEics
Himachal Pradesh
B
femrae wewr
Uttarakhand
c
IWRES
Haryana
D
s

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Which country emerged as the winner of the Asian Champions Trophy men’s hockey tournament held in Bangladesh?
2440826

iR & S kg A et goy glat gaide ¥ S & w U § S 9 3w W



A India

Nepal

Korea

i

Pakistan

i
Correct Ans : C
Subject : General Knowledge

Q.No: 11 In which city Madhya Pradesh Athletics Association is situated?
2440916

YT YR Tyafeay vaieR e wer # fyd 87

Indore

&R

Rewa

Sar
Bhopal

farer

Ujjain

IoH

Correct Ans : C

Subject : General Knowledge

Q.No: 12 Dr. Shankar Dayal Sharma served as a President in -
2441262

3. TR gare Tl A APUld F w9 B B fHare

1992-1997
A

1992-1997

1986-1991
B

1986-1991

1981-1986
C

1981-1986

1976-1981
D

1976-1981

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Which book was written by Dr. B.R Ambedkar?
2441289

31, 3R, s A B W aw ford o
The Heart of the Buddha

TEE AP T TR
B The Buddha and His Dhamma



g g% U few wm

Dhammapada
C
YU
Siddharta
D
R

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Which city in Madhya Pradesh is named after Raja Bhoja?

2441313
T Y & {5 WeR BT AW e i & A1 W@ T 7
Indore
A
R
Bhind
B
fils
Bhopal
c
At
Betul
D
g

Correct Ans : C

Subject : General Knowledge

Q.No: 15 Which of the following districts fall under Central India plateau?

2441447
Fafafaa & & @ @ fen 99 4R & TR & ofid o g2
Shivpuri
A
Rt
Khandwa
B
gsar
Indore
c
R
Sidhi
D
et

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Tree cover in Madhya Pradesh has increased by sq km as compared to the previous assessment report of ISFR 2017.

2441571
31 T 4P SR, (ISFR) 2017 & weh graie R s qen A pen R A gell omrur & wrf et st af g€ 21
500
A
500
266
B
266



622
1100

1100
Correct Ans : B

Subject : General Knowledge

Q.No: 17 First Finance Commission of Madhya Pradesh was constituted in which of the following year?

2441783

T VW & Ugel o i 1 e Pufafed d § foew af fear m ure

1988
A

1988

1982
B

1982

1992
c

1992

1995
D

1995

Correct Ans : D

Subject : General Knowledge

Q.No: 18 In MP Budget 2021-22, the Scheme Mukhya Mantri Krishak Fasal Uparjan Sahayata Yojana has been allocated how much rupees for farmers?
2441847

Y. o7 2021-22 H, A HvF Bd IF Fgraar Qo drerr # frarl & R g sud srdfed fag g 82

3000 crores

A

3000 RIS

4500 crores
B

4500 TIg

2000 crores
C

2000 TS

500 crores
D

500 TS

Correct Ans : C

Subject : General Knowledge

Q.No: 19  200-bedded super speciality block (SSS) was established under the Government of India's Pradhan Mantri Swasthya Suraksha Yojana (PMSSY). The SSB will be configured witt
2441862 portable operation theatres in Madhya Pradesh?

HRT IR B WEFTHA amey FRef Ao (dh.UH.G0.0H. 91, ) & dgd 200 fawer] aran YR Wfkrfd sife (g dl.) wfded s mn an sse @) Aer wexr # s didad s e &

6
A

6

10
B

10

19
C

19

25
D

25



Correct Ans : A

Subject : General Knowledge

Q.No: 20 Total state’s own tax revenue of Madhya Pradesh is estimated to be how much crore in 2021-22?
2441883

T Y& BT T o7 BT ATAT F AoRd 2021-22 F a1 Hig T T 70 22

Rs 23,756 crores

A
23,756 TG T
Rs 14,129 crores
B
14,129 HAS T
Rs 42,556 crores
c
42,556 TS I
Rs 65,254 crores
D

3. 65,254 TS
Correct Ans : D

Subject : General Knowledge

Q.No: 21 In thermodynamics, which process includes no change in volume and the system does no work?
2425911

Syt #, frg it s 3 $1E uRad- el g § iR Riken B T8 a1 87

Isothermal Process

A
FHandt A
Isochoric Process
B
WRee wwa
Adiabatic Process
c
TG wfibar
Isobaric Process
D

wHETE Y

Correct Ans : B

Subject : General Science

Q.No: 22 Which of the following is not a characteristic of enterobacteria?

2428807
fPrafafed 3 & @1 geddeiRar @1 kv 76l 82
gram-negative and rod shaped
A
TH-THRID 3R A F HBR BT
They are usually aerobic heterotrophs
B
F IR TR Qe fwrdeu g §
E. coli, salmonella, vibrio cholera
C
£, e, e, fafid gen
Rhizobium
D
TS

Correct Ans : D

Subject : General Science

Q.No: 23 Which one is incorrect regarding the different ways our surroundings get polluted?
2429273



TAR URkaw & wgfd 8 & faftm afie! & aR & S @ Td 82

Vehicular pollution

A
el BT U
Industries waste
B
Eeiig
Domestic waste
C
WY FT
Water waste
D

Ot @t sl
Correct Ans : D
Subject : General Science

Q.No: 24 Observe the following figure given below. This organism belongs to which phylum?
2429927

Roundworm
A
e
Arthropoda
B
mifdtsT
Mollusca
C
T
Annelida
D
ST

Correct Ans : C
Subject : General Science

Q.No: 25 Angiosperm consists of -

2429941
foreire & 9 ¥ -
flowers
A
k3l
vessels
B
A
tracheid’s
€
g

D fruits



wa
Correct Ans : B

Subject : General Science

Q.No: 26 The reaction between water and calcium chloride is an example of ___ reaction.
2430200

Tl SR Ffekrm FRIgs F & H ufafsear Hfafear 1 06 I3 8

Endothermic

A
FErid
Exothermic
B
St
Physical change
c
IR TRad
Chemical change
D

IR gRad

Correct Ans : B

Subject : General Science

Q.No: 27 The retina is the surface of the eye.
2430372

e o e 3

Red
A

S

Black
B

Can|y

Blue
c

e

White
D

e

Correct Ans : B

Subject : General Science

Q.No: 28 is responsible for holding the atmosphere consisting of a large number of gases.
2430390

3! g A el A god daRy B 4R $ S g e 8

Wind
A
Tl
Clouds
B
wled
Earth’s magnetic field
c
qudt 1 daa &
Gravity
D

ficzcicain]

Correct Ans : D

Subject : General Science



Q.No: 29 Milkis a

2431564
U TH ]
Matter
A
gerf
Mixture
B
oo
Element
C
<
Atom
D
RiLL

Correct Ans : B

Subject : General Science

Q.No: 30 The two lower chambers in the heart are called
2432180

T 7 Q) Frgd sl T STl B

Atria
A
g
Pulmonary vein
B
DU RRT
Ventricles
[
Frem
Aorta
D
e

Correct Ans : C

Subject : General Science

Q.No: 31 Generally at years of age the menstrual cycle stops.

2432486
et atf &1 3y A Wi o 7 §e B I gl
30-35
A
30-35
45-50
B
45-50
25-29
¢
25-29
35-40
D
35-40

Correct Ans : B

Subject : General Science

Q.No: 32 Which of the following is a direct method of transmission of pathogens?
2434285

Frafafea & & S5 Iere! & FwR 31 uae Al §2



A Exposure to contaminated blood

R Y & Tud & o

Fomite like bedding
B

BIEE SR &R

Vector like mosquitoes
C

B B e IR

Carrier like house-flies
D

HiRed! o1 R P
Correct Ans : A
Subject : General Science

Q.No: 33 Which of the following can lead to the prevention of diseases due to improper sanitation?
2434301

Frofafea & @ 1 shfud Wod & SR EH ard Sl 31 Jum IR T g2

Unregulated growth of habitations

A
skt @1 sifafha e
Keeping strict watch over contamination of food
B
Ao & g 89 R Bt FRFE T
Scarcity of clean drinking water
C
W e @1 HHt
Lack of proper toilets
D

Sfer Warerdt 3t @t

Correct Ans : B

Subject : General Science

Q.No: 34 Icterus is another name of -

2434324
FHTHAT fHHHT G807 A4 §
Typhoid
A
CRBIRS
Cholera
B
G
Hantavirus fever
C
FCaRY FER
Jaundice
D
iferar

Correct Ans : D

Subject : General Science

Q.No: 35 ___ the amplitude of the vibration, the is the sound.
2434578

U BT S R g g, @ I & Bt 21

larger, louder

34, e

B smaller, louder



DH, g

larger, milder

3fer, geaht

smaller, milder

FH, T
Correct Ans : A

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422627
A E B I o) u
el § T $6H T Ul T
A E B I 0 u
A
A
A
B
B
B
I
c
I
u
D
u

Correct Ans : B

Subject : General Reasoning

Q.No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as
2422646 gtydy the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

aa__bbb__ccaaab__bc__c

P vy & o 3 v g & 7 21 3 daensit # $o SR gor Ru e #, ok 3 Jwar & Y Ry mu et # S ww # § R 3% g At R R e 9r e § & < 0 gaa o
IR T & @ el F RIF W 95 Ay Gl ol Fa IugH gl

aa__bbb__ccaaab__bc__c

acbc
A

acbc

bbcc
B

bbcc

bccc
C

bccc

ccch
D

ccch

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Krishnakant goes 10 km North, again he goes 6 km South, after that he goes 3 km East and again turns right and goes 4 km. Tell how far and in which direction is he from his
2426360



PRI 10 fHeiHIY IR B 3R ST §, T: 98 6 fhaiiHicR R0 1 3R Wil 8, 39 91C a8 3 fhailex Yd &1 3R S § 3R : 314 3R GSohs 4 fheidiex Sl 1 91y & 98 30 RIS ©
3R fopw feam # 82

6 km West

6 fraiieR ufgm
3 km East

3 fraier

4 km East

4 foendtex gd
7 km East

7 frdier o
Correct Ans : B

Subject : General Reasoning

Q.No: 39 A postman was returning to his post office which was to the south in front of him, when the post office was 200 meters away from him, he turned to his left and walked 100 m
2426386 |ast letter in the home. After that, walking 50 meters in the same direction, he took a left turn and walked 200 metres. How far was he from the post office?

T SIHAT ST STHFER B S ITF WA GHE0 7 T, I0d e TgT T, Sd STHER IJud 200 Hiex Bt gl W o1, Ig 0t andl iR g1 qun i & sifqw w1 & & frg 100 wiex 7 36 ugn
Hiex TaaR a8 3R T T U7 200 Hiex Taml 98 IFR § fobat Hiex 3 gl w ure

0
A

0

50
B

50

100
c

100

150
D

150

Correct Ans : D

Subject : General Reasoning

Q.No: 40~ Select the option /number which is related to 3'4 number in the same way as 22 number is related to a
2426407 ,,

1t number?

13:9u31:7?

3 WA /fAHeT H TIT HL A Y TEA T 3 THR FAOT § AW qEY FEAT Tgel
HEar & wafa §

13:9:31:?

4

12

12
Correct Ans : A

Subject : General Reasoning

Q.No: 41  Which of the following diagram indicates best relation between Frog, Crocodile and Amphibian?



2426796

:
g
:
;
|
i
|
!l
g
8
:

’

@D
@D
O

© ©
O

Correct Ans : D
Subject : General Reasoning

Q.No: 42  Select the Lettered pair that has the same relationship as given in the questions:

2426808
Agenda : Meeting
I R g BT 9 B Forae Fay w7 R 7T wme ey @ 3
IS : 95
Programme : Function
A
PRI : AR
Performance : Ticket
B
wesi : e
Map : Scale
c
T Wd
Footnote : Article
D

g 9E: dE
Correct Ans : A

Subject : General Reasoning

Q.No: 43 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433459

Problem Figures

~<HOHEI

Answer Figures

L= =20

(b) (c) (d)

[




I fAhed BT 9 B S dRRT Sepld ¥ I YR Heifld § o TR et siiepld, ugell snepfa & Heifdd 21

& 3N :

~<HOHEIL
IR 3NGh :

[ I
(a) (b) (c) (d)
(a)
A
(a)
(b)
B
(b)
(c)
c
(¢)
(d)
D
(d)

Correct Ans : D

Subject : General Reasoning

Q.No: 44 A particular Analogy is being shown. Understand the logic and complete the analogy by selecting correct option:

2434070
A=
O T39I ATg97 T9TTAT TAT G| T & TS AT (60T BT TA9 2 1357 &I T0 &4
N EIEIE

A

B

c

- [B




s

Subject : General Reasoning

Correct Ans : B

Q.No: 45 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434895
729:512::343:?

I fied &1 909 Y o et Sem & I ueR el § o gudt T, ueeh S § el @)

729 : 512 1.3 3431t 2

225
A

225

256
B

256

216
[

216

230
D

230

Correct Ans : C
Subject : General Reasoning

Q.No: 46 Identify the diagram that best represents the relationship among the given classes.
2435653
Paddy, Crops, pesticides

I AT H UgaF $H ol fou ¢ AR & i ddy B g st wfaiia e g1
YT, B, DICTRIG

©O0
©O0



Correct Ans : A
Subject : General Reasoning

Q.No: 47 Select the option that is related to the third word in the same way as the second pair is related to the first pair.
2438381
Funny : Comical :: Baffle : ?

T4 faded &1 997 X S R Teg ¥ I IR Hefla 3 S GO g UEd I 9 WEfd B
TOER : gyl o TR & ;7

Absent
A

3rgarRyd

Fair
B

Fam

Deligent
(o

afvsfi

Confuse
D

e

Correct Ans : D

Subject : General Reasoning

Q.No: 48 A compass was damaged and its needle turned in such a manner that the pointer, which was showing east, is now showing south. One person went towards west as per above
2438514 (irection did he actually go?

TH S & 8 T U1 3R Suat g 39 e 48 T R fF @, o ud o1 e e o1, ol o w81 §1 ue sfet SR A U Su & o faR ufdim Y 3k manl 9 ard # fw R A

North
A

Eiid

South
B

fegor

East
c

o

West
D

i

Correct Ans : B

Subject : General Reasoning

Q.No: 49  If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?

<0
O«

Mg TP o BT <xE T Y W @ o, & § 7w e srpfadl ¥ § FH-w wet o ofa gefte



<
O«

®7777777>

O »
>0

O »
>0

Q»
15

QY
™y

>0
O »

>0

OA
JO||O»

OA
VO

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Three of the following four number-pairs are alike in a certain way and one is different Identify the different one
2438838

Frofafea TR sen-gui 7 | 3 5 Aty def 7 16 gE & 99 § 9iR e S 81 M S8T-gW &I J1d St

14:3
A

14:3

17:6
B

17:6

12:4
C

12:4

D 21:2



21:2
Correct Ans : C
Subject : General Reasoning

Q.No: 51 Choose the group of letter which is different from other.

2439467

el & IW WHg B IAT S oF F A R

ARO
A

ARO

FRA
B

FRA

UNV
c

UNV

ICH
D

ICH

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440301 cqpgistent with the main statement.

You are god fearing if you are religious
A. you are religious

B. you are not religious

C. You are god fearing

D. You are not god fearing

12T 7T g & g1 FuA SR TGP 91Q IR HUA §1 U B B IH T4, T6T Uga HUA P ad gE DU 9 8, 3R Y HuF difhd w0 § o1 HUA | Wa g
Ifg o fife ¥ d ST TEE ¥ SR ¥

A. 3T i §

B. oy enfifes 7l &

C. ¥ e § 3 a9 §

D. 3T WTaH ¥ S @l T &

AB
A

AB

BA
B

BA

DB
C

DB

CA
D

CA

Correct Ans : C

Subject : General Reasoning

Q.No: 53  Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440342 cgpsistent with the main statement.

She goes to meet either her mother or her friends on Sundays.
A. She went to meet her mother
B. She did not go to meet her mother

C. She went to meet her friends



D. She did not go to meet her friends

3w e uy A 71 FU SR I a1E IR BT | FU BT AT IH T, T8 U BT $T A g HUT A B, 3R & Y Afd w9 G FUA F T
o AR B 1 A S A A oo el A v St R

A. T8 3o |1 § fre T R

B. 95 S0+l A & fre 7 7 o

C. T 30 St A firery 8 of

D. 95 310 gl J fiyer e 8 oft

cD
A

cD

DA
B

DA

CA
C

CA

AB
D

AB

Correct Ans : B

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440358 congistent with the main statement.

He is either cunning or gullible.
A. He is cunning

B. He is not gullible.

C. He is gullible.

D. He is not cunning

T e uy H g1 FY SR ITF a1% IR B | HY BT AT IH T, T8 U BT $T A G P A B, 3R @ U Afd w9 A GBI FUA F T g
I8 1 T A1 @1 Hiew g1

A. 8 TS §

B. g i e B

C. g e &1

D. 98 =ee 781 8
AC

AC
DC

DC
cB

cB
BD

BD
Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related group of letters from the given alternatives.
2441994

ACF) : ZXVT :: EGIN : ?

fu mu fawedl A § wefid oieR B G I B



ACF) : ZXVT :: EGIN : ?

PRTV
A PRTV
5 ZXVT
ZXVT
. VXzB
vXzB
VIRP
B VIRP

Correct Ans : D

Subject : General Reasoning

Q.No: 56 In how much time will a sum of Rs. 8000 amount to Rs. 12167 at 15% per annum compound interest?
2423677

IR 8000 ¥ T. 12167 15% Wt oy Tengfe sl W o Ty & Su @t I gnf?

8 years
A

8 af

5 years
B

5 9§

2 years
[

29

3 years
D

3af

Correct Ans : D
Subject : General Maths

Q.No: 57 Solve:
2428602
46-21x2+888+8+(89-24x3+15+3)

kad
46-21x2+888+8+(89-24x3+ 15+ 3)
137

137
140

140
145

145
147

147
Correct Ans : A
Subject : General Maths

Q.No: 58 Convert into paise.

2429423
861 paise : 28 rupees
0 A Feema F
861 19 : 28 TUT
61:790

A
61:790
123 : 400

B

123 : 400



(o 532:701

532:701
719:110

719: 110
Correct Ans : B

Subject : General Maths

Q.No: 59 The average of 3,8,9 and x is 6 and the average of 17,2,5,x and y is 8.what is the value of y?
2432563

x 3,8,9 AR x T 3G 6 8 AR 17,2,5,x 3R y FT 3R 8 §1 y BT A FT 82

5
A

5

12
B

12

20
C

20

30
D

30

Correct Ans : B

Subject : General Maths

Q.No: 60 The average age of Mr. Mark's 3 children is 8 years. A new baby is born. Find the average age of all is children?
2432599

N OH & 3 o o org 8 I B TP AU TR BT OFH gl @1 I DI 5wt arel it S o 7 82

9 years
A

9 9l

8 years
B

8 i

7 years
C

7 9

6 years
D

6 9

Correct Ans : D
Subject : General Maths

Q.No: 61 The average of two numbers is XY. If one number is X, then the other number is

2432602
G R FT ST XY T A U AR X ®, & g AR 1 ghme
Y
A
Y
Y/2
B
Y/2
2XY - X
C
2XY-X

D X (Y-1)



X(Y-1)
Correct Ans : C
Subject : General Maths

Q.No: 62 In a 300 ml solution containing 25% magnesium. How much pure magnesium should be added?

2432722
25% BHIREA gad 300 ficfeiter b & fraen e Aveifmy femr s afge?
55
A
55
65
B
65
95
c
95
75
D
75

Correct Ans : D

Subject : General Maths

Q.No: 63 Sugar worth Rs.140/kg & Rs. 135/kg are mixed with a third variety in the ratio 1:2:1. If the mixture is worth Rs. 153/kg, the price of the 3 variety per kg?
2432750

140/f ywa @ IR oI ¥, 135/femm 1 dR i &y 1:2:1 & srgura H fyemar s @1 Al vy @1 e %, 153/, 3 et 9 @ma ufa e

153.50/kg
A

153.50/kg

105.10/kg
B

105.10/kg

252.10/kg
c

252.10/kg

207.5/kg
D

207.5/kg

Correct Ans : D

Subject : General Maths

341\13!;86546 On weekdays, the different temperatures of a city were noted, which is as follows:

32%, 35%, 34%, 36%, 31°, 33%c, 36°c, and 38%. What was the average temperature
for the whole week?

32%, 35%, 34%, 36%¢, 31%¢, 33%, 36, 3T< 38%c. TX THTE T =T ATTHIA F4T 4T?

32%
A

32%

34%
B

34%

35%
Cc

35%



33%
33%

Correct Ans : C
Subject : General Maths

Q.No: 65 qir o nien-1.7.07 41
3433902 STPIfY:35°\55 13)

Correct Ans : B
Subject : General Maths

Q.No: 66 Ifa:b = 5:6 and b:c = 9:5, then a:c =

2435404

If¢ a:b = 5:6 3R b:c = 9:5 8, @ a:c 1AM 4 & § 31 g2

3:2
A

3:2

6:5
B

6:5

2:3
c

2:3

9:3
D

9:3

Correct Ans : A

Subject : General Maths

Q.No: 67 The ratio of present age of Suresh and Ramesh Is 5: 6. After 5 years, the ratio of their age will be 6: 7. Difference of their present age is:
2435448

TR SR A BT A SR BT ST 5:6 81 5 AN & &I, D! S1G FT ST 6:7 TN T ITP! TAHA MY BT SR I PR

5 years
A

saf

8 years
B

gaf



c PR

10 3§
14 years

14 3§

Correct Ans : A

Subject : General Maths

24"‘3"7 96‘:31 What should comein place of question mark in the following number series?

1418 — 6942 +89 =7x 20

Frafafra dear-gaar § wafHeg (2) F s 9w Jwr Age?
1418 — 6942 +89 =7x% 20

70
A

70

69
B

69

67
C

67

65
D

65

Correct Ans : C
Subject : General Maths

%3?7:9?2 What should comein place of question mark in the following number series?
212 4+ 132 — 172 — 104 =? +6°

Frafafaa sear-gaer & wafueg (2) F s v w aa A
212+ 132 - 172 - 104 =? +6°

4
A

4

1
B

1

6
C

6

2
D

2

Correct Ans : B

Subject : General Maths

221?7:97301 What should come in place of question mark in the following number series?

4857 — 72 = 24352 + 32

ot sear-smEer 7§ w3t (2) F = a R AT AR
4857 — 73 = 24352 + 32
A 13



13

15
B

15

18
(o

18

16
D

16

Correct Ans : D
Subject : General Maths

Q.No: 71 In a certain code, a number 13479 is written as AQFIL and 5286 is Written as DMPN. How is 396824 written in that code?
2426515

T fAfyd Fis H, B 13479 HY AQFIL 3R 5286 HI DMPN F &Y # forar 5T §1 Sft H1s & 396824 B 4 feran wman 7

QLPNK)
A

QLPNKJ

QLPNMF
B

QLPNMF

QLNPMF
o

QLNPMF

QLPNDF
D

QLPNDF

Correct Ans : B
Subject : Mental Ability

Q.No: 72 If‘BAT' is coded as 4240 and ‘SAM' is coded as 38226, then '"NUM’ will be coded as?

2434940

% ‘BAT’ H1 4240 & &Y & TU1 'SAM’ F 38226 & U & Fea a1 odl €, @ 'NUM’ & $& Feas foar smem?

284026
A

284026

284224
B

284224

264026
G

264026

284226
D

284226

Correct Ans : D
Subject : Mental Ability

Q.No: 73 If JPG = 19 and PNG = 23, then TIF = ?

2434947
3fg IPG = 19 3R PNG = 23, W TIF = ?
20

A
20
13

B
13



15

15
23

23
Correct Ans : D
Subject : Mental Ability

Q.No: 74 If each letter of the English alphabet is assigned an odd numerical value in increasing order, such as A = 1, B = 3 and so on, then what will be the code of AIRINDIA?
2434973

If SR quieTer F Yl SieR B dgd HH N Ue favH Wererd W i Sl 8, S A = 1, B = 3 3R R e o, & AIRINDIA &1 FT R gR1?

1172771735171
A

1172771735171

2771711173517
B

2771711173517

1173517277171
C

1173517277171

1173517177271
D

1173517177271

Correct Ans : C
Subject : Mental Ability

Q.No: 75 1In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
2435506 | the conclusions and then decide which of the given conclusions logically follows the given statements.

Statements :

1. All momento are shining.
I1. All shining are camera.
Conclusion :

1. All camera are shining.

II. All momento are camera.
I11. All shining are momento.

IV. Some camera are momento.

mﬁngwﬁw$wsmmaraaqmﬁiq'{aﬂmﬁa@ﬁ@fﬁumﬁmwﬁmmazﬁf%ﬁ{mﬁmm Tt P o SR R Fefva o & g o @ @ Fred, f
|

PYT:

1. ¥t A, wefm E)
11 i =mef, R g
ﬁw:

1 9l &, Tmsfr 8
11, gt Ay, P ¥
111, |t =g, e #1
V. T© HW, A §1
Only (I) and (1IV).

Fad (1) AR (1V) 3RO A B
Only (II) and (IV).

Fad (1) 3R (IV) ITWT FW 8

None of the four.

R A A B T

D Only I follow.



FaT I TR Bl B
Correct Ans : B
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varia
2435548 facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

1. Some tigers are lions.

II. Some lions are horses.
III. Some horses are camels.
Conclusions:

1. Some camels are lions .

1I. No camel is lion.

II1. Some tigers are horse.

1 fow T wy A EF Fu R IEF @15 9 Y 1, 11 SR 111 3T T ¥ siue T T @l @Y W WA §, TR 3 Wrra: i auit & s wdia gar €, omuet ok e € b few e et A

e = F ST Bl ¢
DY
1. $T ARG
II. 38 WS 8
. $% 93 Fe gl
Fre:
1. 38 $e Wl
IL $1E Fe W T8 R
11I. $& a9 913 g
Either conclusion I or II foll
A
7 3 Y 1 7 11 SFER B B
Neither conclusion I nor II foll
B
T s 1 3R T E 11 SrgERer dva 31
Only conclusion III follows.
c
Faa frepd 111 SR e B
Both conclusions I and III follows.
D

25l s 1 SR 111 3R A7 Bl
Correct Ans : A
Subject : Mental Ability

Q.No: 77 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439107 ynown facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some brothers are fathers.
No father is a mother.
Some mothers are sisters.
Conclusions:

I. No sister is father.

I1. Some sisters are fathers.

A g 7T w A A HuT U1 IES vy 3 e 1w 11 Ru g § 1 st T T e 9 I AR, 4§ 9 wdand et & e el g1 8 a1 Sl 3 SR TR Sue! SO SR & §
Y

T WS o €1

¥ foren A 7 1

Fo o 961 8

Frep:

1. Y s frar el R



11. $9 §g4 a1 g1

Only conclusion II follows

A

Fraq e 11 SFEeRY ol 8

Only conclusion I follow
B

o FrepY 1 R R &

Both conclusion I and II follow
Cc

e 1 3R 11 G R0 FRa &

Either conclusion I or II follows
D

7 Y 1 a1 11 SR HRaT §
Correct Ans : D
Subject : Mental Ability

Q.No: 78 If rings are called earrings, earrings are called bracelet, bracelet is called anklet, anklets are called bangles and bangles are called watch. Which of the following we can wear o
2439225

Ifg ST & S FET ST R, FHD B G HEl Il ¢, FIF DI U Hel Sl @, UHd B IS el Sl § AR f ) weh wer s 1 Fafaf@d 3§ ¥ g oo Il w wn ved wwd 82

Rings
A

shfeai

Bangles
B

RS

Earrings
[

T

Watch
D

o

Correct Ans : C
Subject : Mental Ability

Q.No: 79 If knife is called needle, needle is called scissor, scissor is called handle, handle is called lock, lock is called key and key is called thread. We open the lock with:
2439258

Ife =g 1 GE Bel WL, G§ D) FN Dl oY, He B TS Dol WY, TS Bl AT BT W, A DY F1ell gl ST SR 1 P U Hgl ST §H A e @iad 8-

Scissor
A
@
Lock
B
GIS
Key
c
&
Thread
D
YT

Correct Ans : D
Subject : Mental Ability

Q.No: 80 Six candidates - P, Q, R, S and T sits in a row for an interview all facing to the North. These are the information about their sitting arrangement.
2439560 U and S are at the extreme ends.

Q and T are at the center.

P is to the left of R.

Which is the second person from the right end?



B8 JHIGAR - P, Q, R, S 3R T T HI&ThR & fog U dfda & Wit IwR 3 SR @ g1 98 §1 3 § 70 37 31 FaR( B THdRI-
U 3R s 3fam BR W §l

QIR THEAR

P, R ¥ & 3R B

T BR W gER1 fd P 7

Q

T
Correct Ans : C
Subject : Mental Ability

Q.No: 81 Ifin a certain code language ‘GAME' is written as '0720012613140522’, then how will ‘NOT’ be coded in that language?
2442217

Ife wep P F1s U § 'GAME’ B '0720012613140522" fora ST €, @ 99 HIo1 A 'NOT' Y 9 @ifsd fsar sam?

121413152007
A

121413152007

131415122007
B

131415122007

141315127002
C

141315127002

141315122007
D

141315122007

Correct Ans : D
Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442783
BROUSERS

fu My depferes wredl # & a5 we 9T S g 1T weg & orerY T TNt @ T S o |
BROUSERS

Bose

Bose

Buses

Buses

Sour

Sour

Serbose

Serbose
Correct Ans : D
Subject : Mental Ability



Q.No: 83 VVIIILIT UIIS WUIU Lail UE TUTTHSU UL WIS TUHUWINY ISWE D §

2442866!:»u s dwm or
Frafafad sierl § @ W T e S o Il 82
bus dwmor
bookworm

A
bookworm
budworms

B
budworms
bedroom

Cc
bedroom
bathroom

D
bathroom

Correct Ans : B
Subject : Mental Ability

Q.No: 84 From the given words, select the word which cannot be formed using the letters of the given word.

2443006
DETERMINATION
Frfifad fawe § & a8 wsa 9T o fow 1Y g & a1l F i & T ST o g g
DETERMINATION
DETENTION
A
DETENTION
DESTINATION
B
DESTINATION
TERMINATE
¢
TERMINATE
DOMINATE
D
DOMINATE

Correct Ans : B
Subject : Mental Ability

Q.No: 85 How many such pairs of letters are there in the word ‘REPRODUCE, each of which has as many letters between them in the word (in both forward and backward directions) as
2443040 them in the English alphabetical series?

‘REPRODUCE, ¥sg # fobe T 31l & wg ¢ s e o1 ofak I € 316l & wa 8 g ot ool qofrren & w1 @ @ (o oiR O 21 Rezmaft /)2

One
A

Lca

Two
B

Q

Three
€

ic]

Four
D

R

Correct Ans : B
Subject : Mental Ability

Q.No: 86 Two taps A and B can fill an overhead tank in 16 hours and 17 hours respectively. Both the taps are opened for 3 hours and then B is turned off. How much time will A take to
2423766 507



A A 3R B U 3IaRgs b I HHT: 16 HS 3R 17 U F WX Tobd §| HI el 1 3 42 & g Wiet faan Sirr § 3R bR B 1 ¢ & Qa1 il 81 AW S &l 43 | A Bl a1 qwg apm?
267/32 hours

A
267/32 ¥
523/12 hours
B
523/12 W%
380/23 hours
c
380/23 ¢
173/17 hours
D

173/17 €
Correct Ans : D

Subject : General Aptitude

Q.No: 87 Find triangle’s area if its base is 15 cm and height is 10 cm.
2426194

T RS &1 & I BT afe SEET SR 15 Wit 7 ok Frard 10 J 71

75 cm?
A
75 d#HR
40 cm?
B
40 TR
85 cm?
(65
85 IR
110 cm?
D
110

Correct Ans : A
Subject : General Aptitude

Q.No: 88 If hemisphere’s radius is 21 cm then, calculate the hemisphere’s surface area.
2426219

af e 3 B 21 I B, @ o F Tag & B OAT B

2218 cm?
A

2218 {#R?

5562 cm?
B

5562 {HR

4158 em?
C

4158 R

6162 cm?
D

6162 T

Correct Ans : C
Subject : General Aptitude

Q.No: 89 Calculate the cylinder’s height if its curved surface area is 528 cm? and radius is 14 cm.
2426229

T ST GATAER Helg a1 528 AT § 3R Brsar 14 it § &t Rl dhr s dhr aorar i |



A ocm

6 e

7 cm

7 ¥R

9cm

9 Fdier

11 cm

11 ¥ifier
Correct Ans : A
Subject : General Aptitude

Q.No: 90  Which of the following is divisible by 31?

2427648
Frfala 3 @ o1 31 3 fauma 82
482901
A
482901
155186
B
155186
383929
c
383929
2847491
D
2847491

Correct Ans : A

Subject : General Aptitude

Q.No: 91  Which of the following is divisible by 41?

2427661
Frofalea 8 3 &9 41 3 faurs &2
803457
A
803457
887655
B
887655
975135
c
975135
8643157
)
8643157

Correct Ans : B

Subject : General Aptitude

Q.No: 92 AS5676432783215B is divisible by 18 find the value of 9A - 5B.
2427679

A56764327832158, 18 W faHTsd § 9A - 58 &1 A I BRI
78

78



55

26
C

26

56
D

56

Correct Ans : A
Subject : General Aptitude

Q.No: 93 Solve the following equations for x.

2431206
6x=-27+3x=4+9-x
x & foQ ga X1
6x-27+3x=4+9-x
4
A
4
B
5
6
c
6
-4
D
-4

Correct Ans : A
Subject : General Aptitude

Q.No: 94 The sum of the digits of a two-digit number is 4 more than the excess of the units digit over the ten’s digit. If the product of the digits is 16, find the number.
2431223

QY Sl B TP GO & AT B 4N 5F & 3T & IO 3ib P 1T F 4 A §1 4l 3wl 31 UFTHa 16 7, @ B I Frf>ul

82
A

82

28
B

28

44
C

44

32
D

32

Correct Ans : B
Subject : General Aptitude

Q-No: 95 The area of a thombus is 50 cm?.if its perimeter is 25 an, and then find its aldmde.

2433807
TF TRAQLST T ATFA 50 W12 g1 af% zaar afem 25 F1 g, s zadr
S=E s A
4
A
4



C
3.3
5
D
5

Correct Ans : D
Subject : General Aptitude

gi\;‘;agfa The perimeter of arectangle is 90 cm?. If its length is 5 cm, find its breadth.
TF ATFT F AT 50 FH2 g1 af Tefr sfamd s Wi g, & e SETE e fif
40 cm
A
40 ¥t
80 cm
B
80 &t
55cm
c
55 Wit
60 cm
D
60 Wit

Correct Ans : A
Subject : General Aptitude

Q.No: 97 36 men together can build a wall 140 m long in 21 days. The number of men working at the same rate required to build the same wall in 14 days is-
2436098

36 aeHt fraar 140 . Wt R 21 BT & 71 oha §) St Sid F gt 14 A F R F g el ot sravawa §-

54
A

54

48
B

48

36
Cc

36

18
D

18

Correct Ans : A
Subject : General Aptitude

Q.No: 98 The ratio of present ages of Vijay and Prashant is 8 : 9. The ratio of their ages before 6 years was 13 : 15. Find the ratio of their ages of 12 years from now.
2436897

faor 3R i Bt T S BT U 8:9 B 6 A Ugd SADT SR BT U 13:15 ATl 3@ § 12 I¥ T1g ISP MY HT SHTUIT J1d HY?

12:13
A

12:13

11:12
B

11:12

10: 11
C

10:11



13:14

13:14
Correct Ans : B

Subject : General Aptitude

Q.No: 99  Find the volume of a frustum with radii 6 cm and 8 cm and height is 10 cm.
2444486

e 1 Sraa 1 T Rrres) Bsart 6 i sik 8 Wit R ok Farg 10 A B

2150 em?
A

2150 P

1750 cm’
B

1750

1550 cm?
Cc

1550 i

2025 cm?
D

2025 P

Correct Ans : C

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark (?) in the following number series?
2444854

53, 53, 40, 40, 27, 27, ?

FraffEa dem sae # wyaEs g (?) & RIF R 31 3 9iee?

53, 53, 40, 40, 27, 27, ?

14
A

14

12
B

12

27
C

27

51
D

51

Correct Ans : A

Subject : General Aptitude



